e

e

y

2H19M O]l Xt ATl

x{oko
o=

Ny

Xt

—

=

ALK OfItE

A
=

& XA

7t
o

off =5t

ol
&

=DN|

M ZE A0l AHFBHALE

1

—

-
O:

- KHE oXZ ol

6718 o2 +

.I

|
o=
o_W_ 0H o
| B2
= o | o4
o | = &4
T I
oll | RIS
e
o | =0
o]
@
IaY
& _K
R -
| = | ook
o | o K —
K | © | gyod
m =B
10 wfw_ ™
{oln
ol
)
M/(_U
oF | — =
b | we
N (]
Ey 2e
T s
or <.
HOW
frm oH ©
— |2 8 | xza
Mm ol N o = HiJ
RN IR I =11
gl 5 Mmoo
© | 5 ol & K|
o0 e 1 1
o
or
RO o
= =
T | we
| Sg
o | o =9
HO | 5 o=
Bl | N KY'S
wr | g al ol &
1S KF<1 =31
Hiuo = H)
RIS WE.I_
oo
00l & <
. . 1 1
I | RO | EI <
| ol | =0 KO

St

Jarn e &
od

Z0i| HFoh= AERLOAH

o
222

M SSSHH, T AT 2 Al ZEA| 113 0]2E AFX}

ok

fLICY.

=

oy
o

tAOF

o
o

) S 0|42 ol K]

=)
il
=
L
I
o
X
=3
=
o
KH
ﬂ
X
&

(=]
ZE!

2| &otxt

LT},

|..

oy
(<)
=

ol
ol

84(AB.C)

84(AB.C)/93(AB) /94

84(AB.C)/93(AB)/ 94/ 114(AB)

/T-135

84(AB.C)/93(AB)/ 94/ 114(AB)
P(140,185A,185B) / T(135,136,137)

ol

ol

ofl

Ol X =4

or

or

b

od

1,000

85m?0|5t32t AL 7}

1,500

L=
=

.|

Kr
Tl
0o

H

85m 0|5t

102molst

13503t

7 3 Hof JrHN HIg

Ar87ts

S|
S|

[
u

L|Ct.

=3t
od

o| 7}

4

FHEA
60%
100%
100%

7P A
40%

85m&1t
HERY

85m0|st

xlof
el




(www.applyhome.co.kr)

(APT 1229 - 2

il
i
)
=<
ol

g

3

APT

Al3LA]

Fa
=

Zoe Me (22 2o

=]
ol

=

160

K

2l

g2

FolAt

x|
=l

—r(

160

K-

5 XS E2| M — AH|A 0] S2JA|)

PS
[eX=)

5|

X

7EMH|A

QIE{Ll Aot

FAIZ| BEEfLIC

25

J|ESEEASL K|

ks,

YofRtA, HFX,
X £ 0|SOA 7| Z T &

SXHCHE MR}

-
it |

d

R4

SEP

ok
=

E-I L

dEARtof BHEH)Q| JHQIEE S9|7t R E|H,

A
(=]

(

#

P, S S MIcH

HS0| ELct

A
%!

ot A2k 2t

=lof| ch

t

ARSI

2F
=

LOTTE CASTLE



